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1. iLSIRPRYEF A Fo=EsRLA2

[1..10].map (i) -> i*2

)%
i*2foriin[1..10]

2. RFIRPRIFABTTEZH

[1..1000].reduce (t,s) ->t + s

(reduce == reducelLeft, reduceRight t3aTL\)

3. Alf— N F R RPESFERLES

wordList = ["coffeescript”, "eko", "play framework", "and stuff", "falsy"]
tweet = "This is an example tweet talking about javascript and stuff."

wordList.some (word) -> ~tweet.indexOf word

TEHAGIFSIRE CECAIERE:

wordList.filter (word) -> ~tweet.indexOf word

~ is not a special operator in CoffeeScript, just a dirty trick. It is the bitwise NOT operator, whi
h inverts the bits of it'" s operand. In practice it equates to -x-1. Here it works on the basis tha
we want to check for an index greater than -1, and -(-1)-1 == 0 evaluates to false.

4. iERE

fs.readFile 'data.txt’, (err, data) -> fileText = data

B HRA :

fileText = fs.readFileSync('data.txt").toString()

In node,js land this is only acceptable for application start-up routines. You should use the as
nc version in your code.

5. RRERRSE!

[1..4].map (i) -> console.log "Happy Birthday " + (if i is 3 then "dear Robert" else "to You")

JFSCHEE: CoffeeScriptBa (TG


https://ld246.com/article/1469606193826

TEX—hRIEERE SRR

console.log "Happy Birthday #{if i is 3 then "dear Robert" else "to You"}" foriin [1..4]

6. JiEFIFRPRIEIE

(if score > 60 then (passed or passed = []) else (failed or failed = [])).push score for score in [4
, 58, 76, 82, 88, 90]

BEREEE:

[passed, failed] = [49, 58, 76, 82, 88, 90].reduce ((p,c,i) -> p[+(c < 60)].push c; p), [[1.[]]

7. 3FAIXML web serviceZiEH 9T
XEHjsonftEXML:

request.get { uri:'path/to/api.json’, json: true }, (err, r, body) -> results = body

8. #&FFIRPRNERAB—EF

Math.max.apply @, [14, 35, -7, 46, 98] # 98
Math.min.apply @, [14, 35, -7, 46, 98] # -7

9. F1Tb 12

Not there yet. You can create child processes on your own and communicate with them, or u
e the WebWorkers APl implementation. Skipping over.

10. “Sieve of Eratosthenes” Hix
RTINS fi—fF15?

sieve = (num) ->
numbers = [2..num]
while ((pos = numbers[0]) * pos) <= num
delete numbers]i] for n, i in numbers by pos
numbers.shift()
numbers.indexOf(num) > -1

ERZE=ATRRA -

primes = []
primes.push i for i in [2..100] when not (j for j in primes when i % j == 0).length
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HIFA—75CH:
(n) -> (p.push i foriin [2..n] when not (j for j in (p or p=[]) when i%j == 0)[0]) and nin p

(n) -> (p.push i foriin [2..n] when !(p or p=[]).some((j) -> i%j is 0)) and nin p
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